3.959m2

8.964m2

0.002m2

Nasyp

Wykop
Wymiana

=-66.679
=1.79m

=-2.00%
=2.50m

0+280.00

2.00%
2.50m

0.002m2
Wykop=4.679m2

Nasyp

=-2.00%
2.50m

0+300.00

2.00%
2.50m

9576 008
vZ'16 6l L
6°96 €89
€216 v8's . .
96'96 vrg | 8€L6 L85G
96'96 VoS
££'86 85°g
9186 sze
2286 05z
186 180
6286 zz'l
1286 000 | opgs 80°0-
0586 59'}-
9586 16°I-
. g | 596 622
££'96 5ze-
i¢88 pE§-
G186 09t~
01'86 86°G-
€186 00°2-
! | [ [
) 9 £ 9
5 3 2 3
2 bk m 3
° o ©
o o @ o
& &

6526 0078
veL6 | 9EL
1696 | 159
0£'L6 | 009
6696 |  bS'S
6696 | ¥l
€1'e6 | SOV
986 | SCE| gzge | e
€86 | 052
8’86 | 912
€v'86 | S8l
yy'86 | 290
9e'86 | 000 | cpos | pro-
£v'86 | £60-
6£'86 | 161
186 | 05
oree | SgE
e8| e
1086 | L1
9566 | 106
se'86 | 6L
9’86 | 00
| I I I
) 3 £ 3
s | 8 & 8
2 8 = 8
o © ©
& O g O
o o

11




